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1 ¢

— 3,7?47’5?276,10?9?8?1H>C5;CS7010
A knot diagranﬂ ’ ! : ¥ 0 ! '

Ideals for irreducible component#ﬂ)f Xpar

=" +u®+ 203 +b+u, —ul —u =20 +a—1, u'® —u® +2u® —u” +4u® — 20 4 40t —u® + 3u® 4 u + 1
=P +2u® 4+ 4+ b4+3, 30 -7+ +a—6, u — 2P+ —ut1)

II=®h+u+l, a—u v’ +u+1)

I'=(b-u a—1, u>+u+1)

* 4 irreducible components of dim¢ = 0, with total 40 representations.

1The image of knot diagram is generated by the software “Draw programme” developed by An-
drew Bartholomew(http://www.layer8.co.uk/maths/draw/index.htm#Running-draw), where we modi-
fied some parts for our purpose(https://github.com/CATsSTAILs/LinksPainter).

2 All coefficients of polynomials are rational numbers. But the coefficients are sometimes approximated
in decimal forms when there is not enough margin.
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L1} = <u7+u5+2u3+b+u, —ub—ut—2u2+a—1, UlO_U9+'°'+'LL+1>

(i) Arc colorings
1
asz =
0
u
1
u?

)

+u? +1>

ud Jru)

ub +u?t —|—2u +1
uw —u? =2 —u

a7 =
ayq =

a5 =

—u
ud —u” 4+ 2uS8 u5+3u4—u3+3u2+1>

ag =

‘
(-
(
a0
e
o=
(
(-

—uB
wHu —ut+ut—2u2 -1

w?+1
a1 = \—y"+ul —w® -2 —u

(ii) Obstruction class = —1

(iii) Cusp Shapes = 4u” — 6u® + 6u” — 4ub + 14u® — 14u* + 10u® — 6u? + 10u



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
€1, ¢3,C6 ul® 4+ 0 + 208 + u” 4+ 48 + 20 At P+ 3 — w41
cs
C2,C4,C7 u10+3u9+---+5u+1
€10
Cs5, Co w® =50 + .- —8u+4




(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
Cc1,C3,Cq y10+3y9+._._~_5y+1
cs
C2,C4,C7 y10+11y9++13y+1
€10
cs, Cy Y0 +5y° + . 432y + 16




Solutions to I}

(vi) Complex Volumes and Cusp Shapes

V=1 (vol + y/=1CS)

Cusp shape

u = —0.100577 + 0.9545261
a = —0.658857 — 0.4985551
b = —0.542150 + 0.5787531

—3.48123 — 2.166431

—9.00466 + 4.219011

u = —0.100577 — 0.9545261
—0.658857 + 0.4985551
—0.542150 — 0.5787531

—3.48123 + 2.166431

—9.00466 — 4.219011

0.900362 + 0.7687341
—1.68093 + 0.924661
2.22427 + 0.459661

10.21950 — 0.195321

4.14143 — 1.590601

0.900362 — 0.7687341
—1.68093 — 0.924661
2.22427 — 0.459661

10.21950 + 0.195321

4.14143 + 1.590601

—0.774061 + 0.9077301
—0.053403 + 0.3833571
0.306648 + 0.3452171

4.50100 — 5.873971

1.27770 + 5.357151

—0.774061 — 0.9077301
= —0.053403 — 0.3833571
0.306648 — 0.3452171

4.50100 + 5.873971

1.27770 — 5.357151

0.782324 4+ 1.0357101
1.19625 — 1.475941
—2.46450 — 0.084301

8.4959 + 12.72131

1.50029 — 7.989661

0.782324 — 1.0357101
1.19625 + 1.475941
—2.46450 + 0.084301

8.4959 — 12.72131

1.50029 + 7.989661

—0.308049 + 0.4776231
0.696944 — 0.500305.1
—0.024265 — 0.4869951

0.004061 — 1.2460201

0.08524 + 5.026151

—0.308049 — 0.4776231
= 0.696944 + 0.5003051

b
U
a
b
U
a
b
U
a
b
U
a
b
U
a
b
U
a
b
U
a
b
U
a
b = —0.024265 + 0.4869951

0.004061 + 1.2460201

0.08524 — 5.026151




II.
IY = (u®+2u?* 4. ..+ b+3, 3u®®—Tu**+..-4+a—6, u?®—2u*+...—u+1)

(i) Arc colorings

o ()

0
ar = \u
1
a4: _u2
u? +1
a5: _u2
ut +u? +1
a2: _u4
—u
a6 = \u®+u
—3u + Tt 4+ —4du+6
ao =\ —u?® —2u?* +... —3u—3
—u? +3u + . —2u+4
ag = \—u?2 - 3u?" 4+ ... —3u—1
—u?® +u* +. = 3u—1
ag = \u®® — 202+ ... +3u—1
—uP +3u* 4 —u+5
ar = \—u®® —4u? 4. —3u—2
(ii) Obstruction class = —1

(iii) Cusp Shapes = 5u?® — 12u%* + 25u?3 — 43u?? + 75u?! — 109u?° + 126u!® —
175u!® + 168u'” — 20066 4+ 98u!® — 164u'* — 6u!® — 49u!? — 1440t — 10010 — 1790° +
26u® — 11207 — 28uS — 47u® — 26u* + 9u® — 16u2 + 15u — 5



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
€1,€3,Ce w1
cs
Co,Cy4,C7 u26+8u25+--~+13u+1
€10
s, Co (u® 4+ 2u'? + .- 4+ 3u 4 2)?




(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
€1,¢€3,Ce6 v 8y + -+ 13y +1
cs
C2,C4,C7 Yy 420y + - — 11y +1
€10
C5,Co (Y +10y"2 + - — Ty — 4)?




Solutions to I3

(vi) Complex Volumes and Cusp Shapes

V=1(vol + y/=1CS)

Cusp shape

0.752045 + 0.8039341
= 197258 —1.237101
—2.47801 — 0.655471

1.88524 — 0.968411

0.413632 + 1.1402951

0.752045 — 0.8039341
1.97258 + 1.237101
—2.47801 + 0.655471

1.88524 + 0.968411

0.413632 — 1.1402951

—0.578645 + 0.9500811
0.030039 + 0.2853191
0.288458 + 0.1365591

—0.80957 — 3.029731

—5.16840 4 1.622821

—0.578645 — 0.9500811
0.030039 — 0.2853191
0.288458 — 0.1365591

—0.80957 + 3.029731

—5.16840 — 1.622821

—0.496478 + 0.7202031
0.299461 — 0.2247901
—0.013218 — 0.3272761

0.00150 — 1.415031

—1.90513 4 4.602011

—0.496478 — 0.7202031
0.299461 + 0.2247901
—0.013218 4- 0.3272761

0.00150 + 1.415031

—1.90513 — 4.602017

—0.335785 + 1.1099201
0.267955 + 0.4442371
0.583042 — 0.1482401

1.88524 — 0.968411

0.413632 + 1.1402951

—0.335785 — 1.1099201
0.267955 — 0.4442371
0.583042 + 0.1482401

1.88524 + 0.968411

0.413632 — 1.1402951

0.905446 + 0.7300411
1.71372 — 0.853991
—2.17513 — 0.477841

9.45063 — 6.481721

3.04187 + 3.272571

0.905446 — 0.7300411
= 1.71372 + 0.853991
= —2.17513 + 0.477841

> Q@ 2|l @ €| & 8|l @ €| @ €| & €| & &8> & 8| & 8| & &

9.45063 + 6.481721

3.04187 — 3.272571




Solutions to I3

V=1(vol + v=1CS)

Cusp shape

u = —0.269616 4 1.1316701
a = —0.308288 — 0.5036671
b= —0.653102 + 0.2130821

1.46125 — 6.613321

—1.15142 + 6.729121

u = —0.269616 — 1.1316701
a = —0.308288 + 0.5036671
b= —0.653102 — 0.2130821

1.46125 + 6.613321

—1.15142 — 6.729121

u = —0.786233 4 0.8600601

a= 0.072545 —0.3872891 | 4.64840 1.75564 + 0.1
b= —0.276054 — 0.3668931
u = —0.786233 — 0.8600601
a= 0.072545 4 0.3872891 | 4.64840 1.75564 + 0.1

b= —0.276054 + 0.3668931

u = —0.819468 4 0.0427181
a= 0.021039 — 0.6446731
b= —0.010298 — 0.5291881

5.42596 — 2.972831

4.39163 + 2.883761

u = —0.819468 — 0.0427181
a= 0.021039 + 0.6446731
b= —0.010298 + 0.5291881

5.42596 + 2.972831

4.39163 — 2.883761

u= 0.791857 4 0.8869031
a = —1.65384 4 1.347451
b= 2.50466 + 0.399801

5.42596 + 2.972831

4.39163 — 2.883761

u= 0.791857 — 0.8869031
a = —1.65384 — 1.347451
b= 2.50466 — 0.399801

5.42596 — 2.972831

4.39163 + 2.883761

u= 0.732196 4 0.9416521
a= 1.54369 — 1.644481
b= —2.67881 — 0.249531

1.46125 + 6.613321

—1.15142 — 6.729121

u= 0.732196 — 0.9416521
a= 1.54369 4 1.644481
b= —2.67881 + 0.249531

1.46125 — 6.613321

—1.15142 + 6.729121
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Solutions to I3

V=1 (vol + y/=1CS)

Cusp shape

= 0.156803 + 0.7476041
= —1.50536 — 0.524701
= —0.156223 + 1.2076801

—0.80957 + 3.029731

—5.16840 — 1.622821

= 0.156803 — 0.7476041
= —1.50536 + 0.524701
= —0.156223 — 1.2076801

—0.80957 — 3.029731

—5.16840 + 1.622821

= 0.799863 + 1.0141601
= —1.26195 + 1.429431
= 2.45906 + 0.136471

9.45063 + 6.481721

3.04187 — 3.272571

0.799863 — 1.0141607
—1.26195 — 1.429431
2.45906 — 0.136471

9.45063 — 6.481721

3.04187 + 3.272571

0.148015 + 0.4193121
= 1.80840 — 0.30217I
—0.394374 — 0.7135611

0.00150 — 1.415031

—1.90513 + 4.602011

0.148015 — 0.4193121
= 1.80840 + 0.30217I
= —0.394374 + 0.7135611

> Q@ €|l & €| & €| & 8| & 2| & &
Il

0.00150 + 1.415031

—1.90513 — 4.602011
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L. 1y =(b+u+1, a—u, v>* +u+1)

(i) Arc colorings

1
asz = O

a7 =
ayq =

as =

(ii) Obstruction class =1

(iii) Cusp Shapes = 8u +4

12



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
C1,C2,C
1,62,C6 u2 —u+ 1
€7, C10
2
C3,C4,Cs u 4+ u+1
Cs, C9 u2

13



(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
C1,C2,C3
2
C4,Ce,C7 Y +y+1
Cg, C10
2
C5,C9 Y

14



(vi) Complex Volumes and Cusp Shapes

Solutions to I3 V—1(vol + /—1CS) Cusp shape
u = —0.500000 + 0.8660251
a = —0.500000 + 0.8660251 —4.059771 0. +6.928201

b = —0.500000 — 0.8660251

u = —0.500000 — 0.8660251
a = —0.500000 — 0.8660251 4.059771 0. —6.928201
b = —0.500000 + 0.8660251

15



IV.I}=(b—u,a—1, u> +u+1)

(i) Arc colorings

1
asz = O

a7 =
ayq =

as =

(ii) Obstruction class =1

(iii) Cusp Shapes = —3

16



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
C1,C2,C
1,62,C6 u2 —u+ 1
€7, C10
2
C3,C4,Cs u 4+ u+1
Cs, C9 u2

17



(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
C1,C2,C3
2
C4,Ce,C7 Y +y+1
Cg, C10
2
C5,C9 Y

18



(vi) Complex Volumes and Cusp Shapes

Solutions to I} vV—1(vol +/—1CS) Cusp shape
u = —0.500000 + 0.8660257
a = 1.00000 0 —3.00000
b = —0.500000 + 0.8660251
u = —0.500000 — 0.8660251
a = 1.00000 0 —3.00000

b = —0.500000 — 0.8660251

19



V. u-Polynomials

Crossings u-Polynomials at each crossing
C1,Cg ((u27u+1)2)(u10+u9+-~7u+1)
(U 2P 1)
¢, €7, C10 (w? —u+ 1)) (' +3u + -+ 5u+ 1) (u? +8u?® + -+ + 13u + 1)
cs, Cg (W H+u+ 1)) +u +- —u+1)
(W +2uP 4 u 1)
4 ((u? +u+ 1A +3u® + -+ 5u+ 1) (u*® +8u®® + - +13u+ 1)
Cs, Cy ut(u'® = 5u® + - —8u4+4)(u? +2u'? 4+ -+ 3u+2)?

20



VI. Riley Polynomials

Crossings Riley Polynomials at each crossing
(P D)W 3y e+ By D+ 8y - 13y + 1)
cs8
BT (P y D) 11+ 13y D 2057 4~ 11y 1)
€10
C55Co Y 0 +5y° + -+ 32y + 16) ('3 + 10y + -« — Ty — 4)?

21



